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Part III

Geuglliluér / CHEMISTRY |
(8B whHpid e auf / Tamil & English Versions )

" Gpiyid : 3 weed | [ QuTss LHQUTET : 150
Time Allowed : 3 Hours | [ Maximum Marks : 150

Wy  : soaiss aemssepd sflurs udleurd) 2 efiengT eTesTLEG T eflumi g6
Qarereneyd. SEstLHald Goplprier, SO  &HEToTETesoNILTerlib
2 Lanqurssd Ggflalsseab.

Instruction : Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

eplly :  Cgaewrer @)Lsdlé LLb UDTHGI, ELETUT[HS 6T 6TLPSYD.
Note : Draw diagrams and write equations wherever necessary.

u@g -1/ PART -1
SO HG aN60TITE 8 EHEHESD oﬂsml_maﬂés&mt_a.
sflurer el ows CorbOsRHa as:s.
Answer all the questions.

ii) Choose and write the correct answer.

YCrmilGerppsdlihe erelsrs 2 1 L@ED Gaitwid

2 Quear@smis syfleid 24) I@u@ﬁs&‘[

@) Uerméy - F) QLreyeler.
The compound that undergoes bromination easily is
a) benzoic acid b) benzene

c) phenol d) toluene.
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2.

o

oLasdle rer Hasliushesnhs syea
<) HI ;;.y KMnO, @) NaOH %) H,O0.
Diethyl ether can be décomposed with

a) HI b) KMnO, c) NaOH d) H,O0.
CyH),0 aetip epevdsan eumbiium’ ghe assmer 2 eosanme wrpPlukiser srsdud 7
2) 4 <) 2 @) 3 . F) 7.
How maﬁy alcohol isomers are possible for the formula C,H,,0?

a) 4 b) 2 ¢) 3 d 7.
et syeel] ersgisr G)eresflauliy Hinsass OarHé&dneg 2

<) 8 CLmer 2) S Lréugean()

@) esdle yasanr F) Ouddler ol G .
Schiff's reagent gives pink colour with

a) acetone b) acetaldehyde

c) ethyl alcohol _ d) methyl acetate.

& (& & 6T0TL_euDmy6ir ‘6T &) @aﬂé&gpgb@ﬂ UeSoT L Wg) ?

<2f) -CH,CH,COOH

<) HOOC - CH, - COOH

@) CHI:_{C}'I(OH)COOH

") CI2CHCOOH .

Which of the following compounds is optically active ?

a) (:HSCI-Iz(ZOOH

b) HOOC - CH2 - COOH

c) (,’fHBCH(Ol 1)COOH

d) C.IQCI-iCOOl 1.
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‘QuIr@eT L SaTéagy Sjenwiiler ememey e

2) 6 3) 4
@) 12 ®) 8.

The number of close neighbours in a body centred cubic lattice of identical
spheres is

a)] 6 b) 4

c) 12 d) - 8

af@é:&,eﬁm_e}@@mﬁ ehe Qewdwep auCLTWED sTSSDTETS) ?

2) AH>0,AS8>0 ) AH<0,AS>0
@) AH>0,AS<0 F) AH<0,AS<0.
Which of the following processes is always ﬁon-l’easilﬁle ?

a) AH>0,AS>0 b) AH<0,AS>0
c) AH>0,AS<0 d AH<O0,AS<DO0.
SI gjavdley 1 eu eredtug)
2 4184 EU <) 4184 EU
@) 418-4 EU #) 4184 EU.
In SI unit 1 eu is |

a) 41-84 EU b) 4:184 EU

c) 418-4EU : cd) . 4184 EU.
Nesreumd elaearseafler swfloe wrhdad 2A = B @ K, b B+ 24 6@ K, b
2@l eredfle ‘
_ 1
) K =2K, ) K =—
K
2
2 ; 1
@) K,=(K) ") K =—
; K2

If the equilibrium constants of the reactions 2A = B and B == 2A are K, and K,

respectively, then

a) Kl =2K2 b) K =

Ly / Turn over
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10. A(g)==B1(g)eaen nﬂsmsm.uﬂieb swBleve wrmlad) K, = 2-5x1072; et Ceorréng, 14
aloanlle aloaGas wrhs 0-05 afleormg 1 arefles VerGerrée  alemeres i
aflener Gouss omdled)
<) 2 alermg sef <) 0-2 afleormg e
.. Q) 2Pl hser #) 02 PO kserr. :

11.

12.

The equilibrium constant K.forA(g)=B ( g)is 2:5x1072 . The rate constant

of forward reaction is 0-05 sec~!. Therefore, the rate constant of the reverse

reaction is
a) 2 seconds b} 02 second
c) 2 minutes 1) 0-2 minute.

§-JyréCer swetur@

U vmp e, ho
B) - Aw— <) A=hmo @) A-— 7)
h - m

de Broglie equation is

muv ' hv
a) A=——0 b) A=hmv c) A=—0 d)

h m
NH; sueflde 2_efrer @leréameuliy
3|) sp <) sp? @) sp* F)
The hybridisation in NHj ion is
a) sp . b) sp2 c) sp3 d)
Slesteumeueeuhible 5 Sle 6w SLTmedT BT L b Q& metor Rerergy 2
Q) Ueanfler ~ 3) &Qermfle
@) yCrmflesr #) @iy ebr.
Among the following which has higher electron affinifty value ?
a)  Fluorine b)  Chlorine

c) Bromine d) Iodine.

h
A=—
muv
h
A=—,
mv
spad
spad




d@rrr&@

ﬂw:cmufﬂgﬁ

onstant

reverse

14.

15.

16,

17.

5
2_efrafiiiy etong e wemTapen_w Gertwb erg) 2
=) Py0, =) P04 @) HyPO, %)

The compound with garlic odour is

a) ]E’2O3 b) P205 c) H,PO d)

umyT SThSSHSETenn LGS gHULES STyesrd
3) GComg eresLyrers el

<) QPQLLTE BIFIUNULL TS T 2 6Tan[Hs 6

Q) sass aevsyrears el

F)  PUeoLwrs srellurs 2 een sl ITeT 2 ofon (s ef
Paramagnetism is the property of

a) paired electrons

b) . completely filled electronic subshells

c) unpaired electrons

d) completely vacant electronic subshells.

H,PO,
CgH N, CI =3 X+N, +HCI. Garrwob X eretug
2) CgH.Cl <) CgH,NHNH,,
@) CgHg #) CgHLNO,.
H,_PO,
C6H5N2C1 pmerr X+N, +HCl. The compound X is
a) CgHCI b) CgH;NHNH,
c) CgHg d) CgH.NO,.

g oLwGer ysae aloanie FOULTE 7

Q) m-QLrguiiees <) yefleled

@) p-ofGeimiSerme 7) Quetengey e
Which of the following will not undergo diazotisation ?

a) m-toluidine b) aniline

¢) p-aminophenol d) benzyl amine.

1033

l-I3PO4‘
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2)  efeSei 2A) o Gy 158G i1

Q) Querdes oL WE&mefup @CBsmrémr_y@ ")

Nitromethane d

c) Benzene_diazonium chloride d) Nltrobenzene.

19. 9@sen ST CoibClem

) &&Cyra %) CsdeGars

8) evLnitss ") ©E@r&ECairs; .

« The reducing Sugar among the followmg is

a)  sucrose ° b)  cellulose

C)  starch d)  glucose.,

20. iremwwhp ST Leneor O metorg i, 2B Georm syfenis

<) dleverde - 2)  yoveesr

@) 4yGymedes )  ogCrrdler.

The amino gcjd without chira] carbon jg

a)  glycine b)  alanine

¢)  proline d)  tyrosine.

21,
<) @&gg&q &Iy Goof) 2%) Sleniay 2 Hmey

Q) Gurse SITIT of) F) It Qleucss STy o).

The term 4 in Arrheruus €quation ijs called as

a) probabthtv factor b) activation energy

c) collision factor

d) t‘requency factor,

22. &l

23.

24,

25.

3)

@)
The

a)

c)

& [DLD
2

@)
Collo:

a)

c) <

&GT0T U

2) &
@
Medici
a) si
c) o
<2 6hueu
e C
@) N:

. Ostwal
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22. EapHEIGGEssGT qeaTLTd alloarallp&s smyemrd

=) Beraenw @mUusTe: 9) geMédlene

Q) @mﬂ 2_Migh &z ") @aﬂ alleua .

The Tyndall's effect associated with colloidal particles is due to

a) presence of charge b) scattering of light

c) absorption of light - d) reflection of light.
23. &alpoBseer GrilemwluBSaId PpeD |

3) mﬁ'g)ulq_eur;é»&éu 2) SHflge

@) eoLwredldlen - F)  eugaLL 6.

Colloids are purified by

a) precipitation b) coagulation

c) 4 dialysis . d) filtration.

24. &eoor HHSTS LWETURD &alpod

3)) &apw Sleéveurt 3y) &mjpw Cara@
| @) a3y ebngloel] F)  D&ETEIWM LmeulolD.
Medicine used as an eye lotion is
a) silver sol b) colloidal gold
c) colloidal antimony - d) milk of magnesia.
25. geveurdl Bisse ald Ndarapb aebe CUTBHSEsmILUS ?
G"-;x;) CHSCOOH <) NaCl

@) NaOH* ¥) H,SO,.

Ostwald's dilution law is applicable in the case of the solution of

a) CH,COOH b) NacCl

¢) NaOH d H,S0,.

[ Sliys / Turn over
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26. SpssT_auppet ahg Sjwefl Blmwhm BiT0é seysemas SHEIDG) 7

<) Ni%* 2) Fe?+
'! @) Cu?* &) Cu',
Ii Which of the following ions will give colourless aqueous solution ?
| a) N2t b) Fe2*
¢) Cu? d) Cu"*.
i 31
| 2T e A&5Cem Crir ywelssen 2 (HuT&GEIng).
2|)  Qmhg et (s et <) S e[ 6ir ; 3¢
| Q) 2 wiu emrysser F) &y 2 Garshser.
R LI form oxocations.
( a) Lanthanides b) Actinides 3
c) Noble gases d) Alkali metals,
| 28" oygoublest 2 enevaefley erf) Qurwenres LWeSTL® eugy _ 3
<) U235 <) Pu 235 @) Pu 238 F) U 238.

(s |

Fuel used in nuclear power plants is

a) U235 b) Pu 235 c) Pu238 d) 'U238.

r
N

| | 29. [Ni (CN)4]2_ Sueiller el

| <) prerapd 2l) &giygend
i @) w&Csmemornnd F)  eTesor(pd).

The geometry of [Ni {CN).‘Jz_ is

i a) Tetrahedral b)  Square planar
l | |I ¢)  Triangular d)  Octahedral.
|| | 30. mAulg& 2 Csmealen ST EUTD6YS &Hmeud 150 BTL&6M. 24651 gymaif] EUT(D6YSH &Teuld
| 2f) 216 priser <) 216 prlser
Q) 261 pr s F) 261 priser.

Half-life period of 79 Au'98 nucleus is 150 days. The average life is

a) 216 days b)  21-6 days

I |
] c) 261 days d) 261 days.

%



J 238.

'238.

'F:G;rrsuLb

31.

32.

33.

34.

35.

36.

37.

38.

39.
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UG8l - 11 / PART - II

efliy : 1) gCsad ufloerhg alaméaensd e wefl.
i) eaCare alomalpeb Gam hag - @TETH QUIT &8 Wik & el 6o
aJeomL_wefl.
Note : i) Answer any fifteen questions.
ii) Each answer should be in one or two sentences. 15 x 3 =45

areudL et B poedlet erdlis@difier edluggioud wrg ?
What is the significance of negative electronic energy ?

sfaflugder ( Z = 13 ) pad Sualuréed ybpoe Qusaidusg e (Z = 12 )
SUIES. 2 1 el darer sfluTe SIS s saps.

Compare the first ionisation energy of Aluminium ( Z = 13 ) with that of
Magnesium ( Z = 12 ). Justify your answer.

PO, 6@ Vssflphs B HéGD syeooll ereTuens Hleml.

Prove that P,0 is a powerful dehydrating agent.

Bureier gGoenid CLPesTN LILEST&H D6 6T(LHEIS .

Write any three uses of Neon.

GeoLfloes saflibhse Sj@amas Comphsmer 2 HUTSGaG 6T ?

Why do transition elements form complexes ?

&Crrend @Qammear® Corsamaraw sweaUm QL alleréds.

Explain chromyl chloride test with equation.

U235 pGerCGLiiioou Ayl grer Qaran® srédeame Sarapd el Hapang.

1 98 136 0 1
n —142Mo +., X€ +X e +Yyyn

1235
gU™ 54 X

0
x b y WetT LHIGHen6TSH &eoTL DS .

Neutron bombardment fragmentation of U?3% occurs according to the equation :

¢ .
' 1) Mo +_, Xe!3% 4 x eo+g0nl

235
U7+ 54 Ly

9 0
Calculate the values of x and y.

ol flwen Hlemevemin eredimmey eredresr ?

What is a vitreous state ?

CHCl, ¢t Qardfloe 61:5°C oyeb. CHCl; pasludysd gerenwiles GlEweL@HD
Qurps Sser Curari yelurgsd Ceuliublameaamusd &aussHs .

The normal boiling point of CHCl, is 61:5°C. Calculate the molar heat of
vaporisation of CHCI, assuming ideal behaviours.

[ Smlys / Turn over




State Le Chatelier's PFinciple,

L. 96 vwss was afleneorullesr SO QUTPeys sravip efleneorii(p QlLim @b et &5 o ey OBTL_ées i
Q#flena, Qurpsg ADLWUTG) eTet Klem.S).

Show that the half-life period of a first order reaction js independent of the Initia]
concentration of the reactant.

42, S CEEICEYY gﬁaa@r.b-s)ﬂmm&smen 2B 60015 )L edy LTS

Write notes on consecutive reactions With an example. 52. &

43. UQerefuies Qlusain QeI -

45, .@ms&nﬂ(ﬁuﬁrmr‘r, Lwrerog AGuwimn - %ﬁmmﬁymgp Gm@ju@gé}é ST (s, 53. &k
H

54. o

Dy
47. Hefsgrane eTelieuiTyy 26Cyrellens; LTHoeuT; 7
How wil] You convert glycerol to acrolein ? 55.

o1
48. %ebqemgg)(@aa@é,amm AL (‘.?&rrg,smmer:smerréa D)5 .

49. arsgs Sl g e PCL; &1 eflever eresrey T ELSTUT® Hps. =

- Sn/HC] CHcl, H, /Pt
50. CH_NO — A B C. A Biigih & & s e
o - 2L s anme) Sephs KOH Do & )
CHcl, H, /Pt

S /”C:l
CH,NO, -—-—-—n—-—-—-—-aA“‘*—‘—-——h-—_‘_,Bh-—-—-»C. Identify A, B ang ¢
alcoholje KOH

Sl. edli 245810 Beotidas e STETDTGY ereiren - Rlresorp TOS8SET e et &6,




_!'
]
il ebr Qﬁm_é,a&é ;
l

It of the initia]

ooTL s,

52.

53.

54.

55.

56.

57.

[B]
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u@d) - Il / PART - I

efly : auare Jfalfehan eopbsulsd @n olamssomea GaibhbosRss
Qurssh gap elemmssEnse aleL_wefl. :

Note': Answer any seven questions choosing at least two questions from each
Section. 7x 5 =35

fle) - <y | SECTION - A

0 H&@HD 6T eu&L_IJIT 6T 4-55x1072% g Quss bhpees GubpeTens eTently, yEedT

S| HETHNSHH &eoT5HE [H6 .
[ fleop = 9-1x1073! kg wpmid h = 6:626x1073% kg m2s™! ]

A moving electron has 4-55x1072° joules of kinetic energy. Calculate its

wayelength. [ mass = 9-1x102 kg and h = 6-626x10734 kg m?s™!

féveurr erelieur Syt Ly ellmhe NECsRssLLESDE aaums aleufl 2

How is silver extracted from argentite ?

QTheHemeT () GnISHeSSleET alanerasHemer e(E.

Discuss the consequences of lanthanide contraction.

Seoeama orpflud Lo  SueTuree wrpHluksaer aladdl MOSES GO
THHHSET( SBS. |

Explain co-ordination and ionisation isomerisms with a suitable example for

each.

. ifley - 2 | SECTION - B
e Gl (s )-llesr Aplifwevset wremes ?

What are the characteristics of entropy( s ) ?

K,=Kc (RT)Ms aetip sweéturl oL Qurgare g6 Cagésvbloen alamandg

eumeI&H&eyD.

An

Derive the relation Kp = K (RT)™"s for a general chemical equilibrium reaction.

[ SlmLiys / Turn over
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58. @B Wz s aloeariées 99-:9% aloearphoi @u@mg;l_b@ Coeveuwresr Crywreng
50% elleerpppis QupeusHE Comeaurer Crysasis Gurd 10 Lk aer Hlem.

Show that for a first order reaction, the time required for 99-9% completion of the

reaction is 10 times that required for 50% completion.
59. QWpiremevl sweTUTL Ig et auma.

Derive the Nernst equation.

- : Uifle) - @) /| SECTION - C
60. oL apdle rpeond swUTTEED e Wonsaen, epss .
Give any three methods of preparation of diethyl ether.
61. geoLred Gnss allaenier auflpepd upd adleuf.
Discuss the mechanism of aldol condensation.
62. @OlY euers :
i) HVZ-aleneo
il)  wrHm eeLTEGS6 el
iti) Gardller Bararmhueliy ellener.
Write short notes on the following :
i) HVZ-reaction
ii) Trans-esterification
iii) Kolbe's electrolytic reaction.
63. &pé&s@IL LeLgHeT eeleurny swrRLuTl 2 SCUT®H LOLLSESD GEH UL
, TGS
a) Uyerr-S @pour
b) eopeuredT-6, 6.
How will you prepare the following polymers ? Mention one use for each.

a) Buna-S rubber

b) Nylon-6, 6.

64.

65

6¢
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Dreorg) u@g - IV / PART - IV

mL.
Fii efliyset : 1) olerm aet 70 &@ sULTWOTS ol weldsiuLd Geoues @ib.
of the

Bauperer  allemméseiles glseubd  peiy aleTTésEnéE
allemLwef). '

i) Qursb prarg alamesehée alawefl.

Note : i) Question No. 70 is compulsory and answer any three from the
remaining questions.

ii) Answer four questions in all. 4 x10 =140

64. o) ureli peopller Sjuel UTHDGEH &eoorsd[HID @smrpsmﬁ.l alené@s .
[ i) @eﬂé@&ne&réeﬂs&r LILIEST &0 6T 6T (LGS .
a) Explain the Pauling's method to determine the ionic radii.
b) Mention the uses of silicones.
65. 9 @eeoidnet tameamiiyéd Qarsianawler smeCaTeTaeT Wrenal 2
2) Ceadlalmears@nseb 2 L asn alloase@péb@h 2 et Geunur@asr wrene ?

a) What are the postulates of valence bond theory ?

b) Differentiate chemical reactions from nuclear reactions.
o >

66. ) eyl & whpb LOThES GopuT@aaer aleufl.
<) Gaudilwer weop cpevd sapumser surfldsamen alleurt.
a) Explain Schottky and Frenkel defects.

b)  Write briefly about the preparation of colloids by chemical methods.

[B] [ Sipliys / Turn over
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67.

68,

69.

<)

%)

a)

b)

)

<)

a)

b)

<)

24)

b)

14

WBledreotrrr) Aiflen & wenL_g 6 ubmlw &ﬁ_gﬂscﬂmsin'@&,rreﬁsm&,uﬂm gCseud b

DM emerm ET(LDEIS.
Blerae omlaIuedé UWeSTUB S5 I Hib ICseib g Qemb@pr_isemer afef.
Write any five Postulates of Arrhenius theory of electrolytic dissociation.
Explain‘anyﬁue terms used in cell terminology,

Lmiemflé ouflevs desr spefl & jpiné wrHOwkS e er alleurf],

#melldleflss oufleuin swriflds e euyid 2561 elleneo auflpepewiyn TG!S
Discuss the optical isomerism in Tartaric acid.

Write the Preparation of salicylic acid with mechanism.

GO euenys :

) &0® s afeyes

i)  coedllr smyip 2_GOOTL &6,

ool iy &GLréesr (ol eTelieurp, Bloieiiuc g -

Write not'é‘s on the following :

i) Mustard oil reaction

i)  Formation of Schiff's base,

How is the structure of fructose determined ?
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70. o) C,Hg ereubd @6\)&5&@}] eumur@etenr A erestp & flng &b Cl, wppid NaOH

Qb ghg |
:! 2 Latt aflemeryflibg fen @i C,HgO ereip B Gsiwid Comgw 2 Carssgi e |
|
} H, aumyener GeueflGuibpib CrmCuoiigé ADEADTE AGD. Gueyid Gsirod B
1 efleurf).
28Iy s fleusgi e o H,S0, yaraflaades wadlamader wemoripenw
ion, CoH, 00, aatD pevsann euriur@eier C Ceiwsersd BHEIDG aeafles A, B, C

< Flwepern &esorL Mg aleverseaner llené@s.

%) A aap peflod Qered eawor 12, euflens -aasr 4. & 2 erer HeVikIE Vb S
Qleuetoresiip 2 Cerswr@bh. A oy i H,S0, 2.1 SO, g OeuefllGubil B
Cemoges smdlpg. Coed seflod A, NaOH 2. 1 e afleoeryfliba C Ceorwgeans

B5hHDE ereflér A, B wpmid C eows &1L hgl alanersmemer alerégs.

a) An organic compound A of molecular formula C_Hg reacts with Cl, and

NaOH to give an aromatic alcohol B of molecular formula C,HgO which

liberates H._2 with metallic sodium. Compound B on reaction with CH3COOI-I

in the presence of conc. H,50, forms compound C of molecular formula

] _ (nglmO2 which has the fragrance of jasmine. Identify A, B and C. Explain

the reactions.

b)  Element A which belongs to group 12 and period 4 is a bluish white metal. A

reacis with conc. HZSD4 and gives B with the liberation of 802‘ With NaOH

A gives compound C. Identify A, B and C. Explain the reactions.

geevg /| OR

[ Sluys / Turn over
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C,HO eaeip epevdsap eumbur@eier A Gefwb Lreeey aflemeot QT B,

SQueln s HHsGS0ma. Geafob A Fleneraat 6H&HsSSDG UG

C,H

jHg eeoip B Gefnposd shHADg. Cuoeyd CGefwibd A. oLt H,S80,

waailomadles  GN&SLELbHY Cytl,, eetip @pevdean eumuimHefrer
2CyrCuiys Cerwd C pb sGHFDE aaid, A, B wppd C ows &esoTL Db &)

everrsmemer allenéEs.

g6 wadl Crrsdle QuriLrdud Cure @ sorsaldimhg 10 &lymb
2Cumgemer QeusNCuip Caoeauiu@nd BearGam L gereeas ( gybllwflé )

san&H[Hs. ( 2Curyeaier swrer Hleon-127 ).

Compotind A of molecular formula C,H,O does not reduce Tollen’s reagent

and Fehling's solution. Compound A undergoes Clemmensen reduction to
give compound B of molecular formula C,Hg. Compound A in the presence

of conc. H,S0, condenses to give an aromatic compound C of molecular

formula Cngz' Identify A, B and C. Explain the reactions.

What current strength in amperes will be required to liberate 10 gm of iodine

from potassium iodide solution in one hour ?

( Equivalent mass of lodine is 127 ).




